
(1)exp (yt) = exp (cMt) + exp (xt)

(2)(1− a) b (1− η) exp ((−Ct) e+ e cHt − hHt) = (1− b) exp ((−lt))

(3)a b (1− τh) (1− θ) exp (yt + (−Ct) e+ cMt (e− 1)− hMt) = (1− b) exp ((−lt))

(4)β exp (e (−Ct+1))
(
a (1− δH) exp

(
(e− 1) cMt+1

)
+ (1− a) η exp

(
e cHt+1 − kHt

))
= aλ exp ((−Ct) e+ cMt (e− 1))

(5)β exp
(
e (−Ct+1) + (e− 1) cMt+1

)
(1 + exp (rt+1) (1− τk) + τk δM − δM ) = λ exp ((−Ct) e+ cMt (e− 1))

(6)θ exp
(
yt − kMt−1

)
= exp (rt)

(7)(1− θ) exp (yt − hMt) = exp (wt)

(8)exp (yt) = exp
(
θ kMt−1 + (1− θ) (hMt + zMt)

)
(9)exp (Ct) = exp (cMt a+ (1− a) cHt)

(10)exp (lt) = 1− exp (hHt)− exp (hMt)

(11)exp (cHt) = exp
(
η kHt−1 + (1− η) (hHt + zHt)

)
(12)exp (xMt) = λ exp (kMt)− (1− δM ) exp

(
kMt−1

)
(13)exp (xHt) = λ exp (kHt)− (1− δH) exp

(
kHt−1

)
(14)exp (xt) = exp (xMt) + exp (xHt)

(15)exp (kt) = exp (kMt) + exp (kHt)

(16)exp (Tt) = τh exp (hMt + wt) + τk exp
(
kMt−1 + rt

)
− τk δM exp

(
kMt−1

)
(17)zMt = ρM zMt−1 + ϵMt

(18)zHt = ρH zHt−1 + ϵHt
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